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SH: AT AT RS
HE: ACAHENR(ZELT SN/ NSLEAI)
ool SACAHIRLAME 2 (25l &2
_ _ _ Muo
SN-EHH S (3H) - HEAY - BES Ofl &t o il i~ o Hnz2
osg+g 8,700
—HIZUAME RS 25
10,0002 %142 +33] 4,200
=l 2,100
= 2,100
—SACAZRIRIRE £
10,0002 *152 x33 4,500
= 2,250
= 2,250
SEET 4,800
=l 2,400
= 2,400
02 B2 7,000 7,000 0
OSAZAl EHOIX RX 24 7,000
=l 3,500
= 3,500
202 04t 45,000 45,000 0
=l 22,500
= 22,500
01 2L 01 bl 15,000 10,000 5,000
ONZAZSS =7 15,000
= 7,500
= 7,500
04 = XI5k 04l 30,000 35,000 5,000
O FS AT Al X 0F2 30,000
=l 15,000
= 15,000
HIZLIAMIE AL EZ 330,000 1,570,000 A1,240,000
= 165,000
= 165,000
201 Yere gt 330,000 370,000 40,000
= 165,000
= 165,000
01 At 22| H] 160,000 180,000 220,000
OsragY| 160,000
~HACAYS U A2ER 60,000
=l 30,000
= 30,000
~HACAl E22 L JIEE HN 100,000
=l 50,000
= 50,000
03 B A2 b 170,000 190,000 20,000
OBASTAl OIHUHAAS EXHREIALL 140,000
= 70,000
= 70,000
OO0IEII2 MY L RXMNAIIY ZHHA 30,000
=l 15,000
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SN BACARES
HH: ACAAEX R (REYX L/ X HDTA)
CH9: HAGAHELAMESY CEHE
_ _ _ PIIEL=
S ED .S (B0) - NRAY - BAS 0f o o4 SR HDS2
HHl = 15.000
P TIGIEEL 74,073 0 74.073
=2y 74,073 0 74,073
SI=ET 74,073 0 74,073
201 2Bt o | 19,803 0 19,803
01 AF2 22/ H| 19.803 0 19,803
PRt 8,326
Ol 11,477
202 01t 43,470 0 43,470
01 = LHoHI 43,470 0 43,470
OI1=01H| 43,470
203 2 2= Y| 10,800 0 10,800
01 JBSAADR =AY 6.600 0 6.600
oRgwE 6,600
04 B2 =AY 4,200 0 4,200
OspTADR=2 4,200




